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Test 3

The length of the test is 1hr and 45min.

Question 1. (5 marks) Fmd the x and y-intercepts and vertex of y —v~5x2 +7x+13. Graph this
. parabola.
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Question 2. (10 marks ) Use Cramer’s rule to find the equatlon of the quadratic function that passes
~ through the points (1,2), (3, 14) and (—2,29).

Y= o(x?'-‘b')f”fc

L=a Ahey+C = al3)H NGNS 205 al-2)Y¥4b(-2) +¢
(D d=atrb¥e @ M=% c3b Y (3 24~ 4 -2b+C

¢ T2t 29 -5t - (0 -1 -Ao

h

| | .
2
b= |9 4
1M _ g -
- %0
ot |
I
H 7 |
T S A
|  en .
o= 9 -2 29 ~ 53 . 5/
AT N N ~50
4 3 |
q4 -z |




* Question 3 ( 1 0 marks) For the followmg symmetnc sc1ssortruss findX,Y,Zand U. All lengths A
are in metres
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Questlon 4 ( 10 marks ) For the followmg ﬂoorplan find the cur.cumference area and volume All
lengths are.in metres
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Questmn 5. ( 10 marks ) The systems below are in ethbnum Fmd F1 FZ and Fg
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Question 6. ( 10 marks ) Fmd F,5 and F; in the following dlagram of acrain given that the system
isin equlhbnum _
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Question 7. (5 marks) Solve the system:




